1 | 2 3 i 4 5 6
. I RATIN ATE FIXING SCREW
PILOT SOCKET @@ 99 @ 3&[? %;!&Awsnz Xhlxi?n? 3.0MM
A ON 44.4 PCD 77.5 NOM. (12.5 MIN. MATERIAL REMAINING UNDER
~— 56.0/58.0 FLAMEPATH LENGTH DRILL POINT
3 MAIN PIN HOLES WITH A MAX 0.4 GAP)
ON 44.4 PCD \ - — = 290 4| M6 X 1.0 6g/6H
: MIN. 11 WALL THICKNESS
BONDED IN WITH "LOCTITE
=] \L\\L 263" THREADLOCKER
- ,
g 5 | /—®
1 N > 5 @
B = S o
LA g 5§ & ®
L] o
' = o))
= 2 \k\
\‘x
/ (13)
= T L VI L S N
AN Ly / "k e (14)
. , R L7 277 NS
o & . 5 4= =—
Wz
. 70.0 MIN. = @
G 31.5 NOM.(25.0 MIN.
FLAMEPATH LENGTH - o
‘ M10 X 1.5 — 6g/6H
@ @ WITH A MAX 0.5 GAP) CAP CLEARANCE HOLE
17 a11.0/11.27
*—, ITEM No. 18 CEMENTED /
IN WITH "LOCTITE 587"
w A BLUE NAXX SECTION A—A
19 1 3340 INTERIOR_MOULDING NEOPRENE
18 3 4584 BUNG ERTACETAL C
17 3 AR113115 M0 X 40 HEX HD SCREW (1S04017) SIEEL-ZINC_PL.
MARKING DETAILS 6 7 F—AX000400 HANDLE RYLON
15 i AH002087 1/4" X 7/8" SELLOCK PIN STEEL-ZINC_PL.
D MLLP 14 1 AHD09380 3/16" STAR WASHER STEEL=ZINC_PL.
AR3#1R@ 13 i AH117117 M3x10 BUTTON HD CAP SCREW ST. STEEL
300A 12 2 AHDOS277 5/16" X 5/8" X 18 WASHER STEEL-ZING PL.
NOLTS 6 BRGY 1 3 AFTT5112 M6 % 16 SKI HD CAP SCREW SIEEL-ZINC PL.
# VoL = 10 1 AX004076 RATING PLATE BRASS
1=1100V 9 2 AHO0S768 No.4 GAUGE X 3/16" U-DRIVE SCREW STEEL-ZINC_PL.
@ NOSE CONE 5=ST. STEEL B 1 4583 CAP CASTNG HIGH TENSILE BRASS — NOTE 6
- BLANK=BRONZE CB6500 10 AS 1565-1996
IP68 7 45761 EARTH LEAD Bmrm’ WITH PILOT DIODE PVC_INSUL. CABLE / IN4D07 DIODE
Ex db | Mb 5 1 AI019046 ORING BS 144 NITRILE
1100V 660V IECEx ExTC 22.0037X & 3589-1 PILOT THIMBLE (COPPER) C14700 OR C11000 OR C10100
824 BLUE %15 ORANGE ANZEx 22 418-1 10 AS/NZS 1567-1997
E A ] 1 AHO09B34 10-24 UNC X 11/4" SKT HD SCREW ST. STEEL
£ C ONFIGURATION a;fnérﬁéx_“ 3 i 37382 PILOT SOCKET (COFPER) C14700 OR C11000 OR C10100
T0 AS/NZS 1567-1997 SILVER PL. TO AS
NOTES DO _NOT SEPARATE WHEN ENFRGIZED 1856-2004 Culq 08
NY Lo 2 1 AHZ01405 CONTACT SOCKET SPRING ST. STEEL
E 1 334255 BODY CASTING ST. SIEEL 305 MIN. GRADE
1. MINIMUM WALL THICKNESS 3.0mm UNLESS OTHERWISE SPECIFIED ON THE DRAWING, el 4 g RERL Rl R e e
2. IN CASE OF BLIND HOLES FOR SCREWS, THE REMAINING THICKNESS OF MATERIAL R Y CERC T SRR T
= UNDER THE HOLE IS A MINIMUM OF ONE-THIRD OF THE SCREW DIAMETER OR 3MM, SARVDT
WHICHEVER S GREATER. = T T
3. THE SPECIFICATIONS, DIMENSIONS AND RATINGS COMPLY WITH AS/NZS 1299 B c i ‘ Electrical \
ELEC TRICAL EQUIPMENT FOR MINES AND QUARRIES. ! % I . .
4, SPECIAL FASTENERS COMPLY WITH I1SO 262 WITH A TOLERANCE FIT Bg/6H AND 2| wl PrOdUCtS MINTO |NDUSTRIAL PRODUCTS
TS DRAWIG REMAIE THREAD ENGAGEMENT IS 2 THE MAJOR DIAMETER AND THE CLEARANCE HOLE IS &% | =|A division of CMI Operations Pty Ltd sy
F | THE PROPERTY OF MINTO NOT > H13 (lSO 286-2), GENERAL TOLERANCE +0.5 DESCRIPTION 5OOA 660/’] ’]OOV
INOUSTRIAL PRODUCTS AND % 5. ALL MACHINED FLAMEPATH SURFACES AVERAGE Ro DOES NOT EXCEED 6.3um (IS0468), UNLESS OTHERWISE SPECIFIED 5 5 v'p
MUST NOT BE LENT OR COPIED, =7 6. MATERIAL HIGH TENSILE BRASS 86500 TO AS 1565-1996 WITH A MINMUM TENSILE - Ty
AHT STRENGTH 450 MPa AND MINIMUM 10% ELONGATION. £ Z SEE TABLE | _EST A'NED DUMM LUG
P o 7. MINIMUM TORQUE OF 10.0 Nm FOR CAP SCREWS, = | |SCALE. TS | PATE 22/11/2022 | DRAWING No.
AR31R / AR3TIRS [no ot scaLE ORAWING. | 8. MINIMUM PROPERTY CLASS FOR STAINLESS STEEL FASTENERS IS A*-70. = | =|FNSH  COLOUR CODED AS PER ' grawm cHECKED 2B F-913
AR361R / AR361RS [DIMENSIONS IN MILLMETRES. [9. MINIMUM PROPERTY CLASS FOR MILD STEEL FASTENERS IS 4.6. £ | o AS 2700 EL erroven /70 '
eny
| 2 3 ) 4 | 5 6




1 | 2 | 3 () 4 | 5 | 6
ITEM No. 2 CEMENTED RATING PLATE FIXING SCREW
A IN WITH "LOCTITE 587" %R;LTLE Ffl:i.ethE.ruH vrll\(]; ?JSEJEMR
7.5 NOM. (12.5 MIN. BLUE MAXX L REMAININ
?Lfmé‘é)rm( Lth?Gr}&HN 31.5 NOM. (25.0 MIN. DRILL POINT
WITH A MAX 0.4 GAP) L 16.0 fren—in %wE:AJExLE%GEHAP)
' M6 X 1.0 6g/6H
MIN. 11 WALL THICKNESS
|| ] —— BONDED IN WITH "LOCTITE
e 83" THR
‘ myeh <7 i / / / £ \ “\Y\ 263 EADLOCKER
o E LT LT E LTS
S 0
2 L~ = — \ °
S - 1
B l = & R PR v %{ (&)
e S = \\\\\\\\\ \\ \\\_ \@\g\\ m =X
= - g ons @
= = :2 \
o
— -
o LA LA IR A i 2\
3 MAIN PIN HOLES 5 = gy { 5
ON 44.4 PCD / /!_/’ e, ey 7
PILOT SOCKET 27.0 = F
ON 44.4 PCD g
C 9.4/9.6 60.0 N, b
.~ 87.0
-—l M10 X 1.5 — 6g/6H
@@ @ @ CAP CLEANCE HOLE
A 811.0/11.27
- SECTION A—A
= 21 1 Al019023 O'RING ID 82.22 X SECT 2.62 NITRILE
MARK|NG DETAILS 20 1 AH201405 CONTACT SOCKET SPRING ST. STEEL
19 1 3138-2 PILOT SOCKET (CDF‘FER} C14700 OR C11000 OR C10100 TO
M.LP. AS/NZS 1567-1997 SILVER PL. TO AS
AR3315@ 1856-2004 Cuhg 08
300A 18 1 AlD190:30 O'RING ID 6.07 X SECT 1.78 NITRILE
D 3300V 17 1 AHD09834 10-24 UNC X 11/4" SKT HD SCREW ST. STEEL
- 16 2 AHOO2987 1/4" ¥ 7/8" SELLOCK PIN STEEL-ZINC FL.
© NOSE CgTE\N}S(:SBTFl?OSf\JTZEEEL 13 1 3984 FILOT THIMBLE (COPPER] C14700 OR C11000 OR C10100 TO
= AS/NZS 1567-1997
|E|36f(5jb - ]li ? h:-[l}ﬂg.'ﬁoﬂg M0 X 40 HEX HD SCREW (1S04017) STEEL-ZINC PL.
% AlD1904 O'RING BS 144 NITRILE
IECEx ExTC 22.0037X 12 1 45761 EARTH LEAD 6mm® WITH PILOT CIODE PVC INSUL. CABLE / IN400O7 DIODE
== ANZEx 22,4181 il 1 F—AX000400 DUMMY / PHASE PLUG HANDLE
TYPE A 10 2 AHD08277 5/16" ¥ 5/8” X 18 WASHER STEEL-ZINC PL.
R g ? A:1151'|2 M6 X 16 SKT HD CAP SCREW STEEL—ZINC PL.
EEmm e oL
00 NOT SEPARATE WHEN ENERGIZED T AXQD4076 RATING PLATE BRASS
5 2 AHO09783 Ne.4 GAUGE X 3/16" U—DRIVE SCREW STEEL-ZINC PL.
E 4 1 4583 CAP CASTING HIGH TENSILE BRASS — NOTE 6
CBB500 TO AS 1565-1996
3 1 3960 INTERIOR MOULDING OMC GRO4GTE
N O TES 2 3 4620 DUMMY PLUG BUNG ERTACETAL C
B 1 3342-155 BODY CASTING ST. STEEL 303 MIN. GRADE
1. MINIMUM WALL THICKNESS 3.0mm UMNLESS OTHERWISE SPECIFIED ON THE DRAWING. ol T ST ROBYLASTING ey TRAIE Bucr S
2. IN CASE OF BLIND HOLES FOR SCREWS, THE REMAINING THICKNESS OF MATERIAL T B R T TE T SRR T
— UNDER THE HOLE IS A MINIMUM OF ONE—THIRD OF THE SCREW DIAMETER OR 3MM, e T
WHICHEVER 1S GREATER. ; il
3. THE SPECIFICATIONS, DIMENSIONS AND RATINGS COMPLY WITH AS/NZS 1299 < g M Electrical
ELECTRICAL EQUIPMENT FOR MINES AND QUARRIES. L g
4. SPECIAL FASTENERS COMPLY WITH 1SO 262 WITH A TOLERANCE FIT 6g/6H AND —— cml Products MINTO |NDUSTR|AL PRODUCTS
THREAD ENGAGEMENT 1S2 THE MAJOR DIAMETER AND THE CLEARANCE HOLE IS 5% Z[A division of CMI Operations Ply Ltd
NOT > H13 (ISO 286-2).  GENERAL TOLERANCE + |DESCRIPTION
| THiS bRAWING RemANS 5. ALL MACHINED FLAMEPATH SURFACES AVERAGE Ro DOES NOT EXCEED 6.3um (ISO468). UNLEFSESLOTSLE%“?QC p %? ' ! S00A 3300V
THE PROPERTY OF MINTO 6. MATERIAL HIGH TENS = = _ E SPECIFIED
INDUSTRIAL PRODUCTS AND L . 3 ILE BRASS C86500 TO AS 1565-1996 WITH A MINIMUM TENSILE = TWATERAL RESTRAINED DUMMY PLUG
HEST NAT BE LENT BR. COBiER STRENGTH 450 MPa AND MINIMUM 10% ELONGATION. = | = SEE TABLE -
7. MINIMUM TORQUE OF 10.0 Nm FOR CAP SCREWS, 5 & _ . LAE TS DATE 22/11/2022 DRAWING Ne.
AR331S DO NOT SCALE DRAWING, | B. MINIMUM PROPERTY CLASS FOR STAINLESS STEEL FASTENERS IS A*-70 2| S PN RI3 RED AS PER o 2> A3
PART No. AR331SS DIMENSIONS IN MILLIMETRES. | 9. MINIMUM PROPERTY CLASS FOR MILD STEEL FASTENERS IS 4.6 = | & AS 2700 [ i;‘jgo"%@ F-919
1 | g 3 L - | 5 = 6







RATING PLATE FIXING SCREW
DRILL @2.4 WITH MIN 3.0MM
MATERIAL REMAINING UNDER

A
& O

56.0/58.0 77.5 NOM. (12,5 MIN. §
/ FLAMEPATH LENGTH N DRILL POINT
WITH A MAX 0.4 GAP
3 MAIN PIN HOLES = ) M6 X 1.0 6g/6H .
ON 42.0 PCD MIN, 11 WALL THI(TFKNEE_ZS
\ BONDED IN WITH "LOCTITE
I 6.3 263" THREADLOCKER
[ -
S
2 n * —— -
73 z- (3
S W i
o o
: g 5 i : (15)
I e ‘ (©)
A ,
l e = (1)
| P
L / /J_,//J/I\ et - @ v
- 87.0 ——J L X
- 94.5 MIN, @
31.5 NOM. (25.0 MIN.
@ @ FLAMEPATH LENGTH e - MIO X 1.5 — 6g/6H
WITH A MAX 0.5 CAP) gﬁPD%LlE;?ANCE HOLE
ITEM No. 22 CEMENTED St
IN WITH "LOCTITE 587"
UE MAXX
b SECTION A—A 23 1 4034 INTERIOR_MOULDING SUPEROHM
22 3 4620 BUNG ERTACETAL C
21 3 AHT13175 M10_X 40 HEX HD SCREW (1S04017) STEEL-ZINC_PL.
20 1 F—AX000400 HANDLE NYLON
MARKING DETAILS 19 2 CHA30ET RING TERMINATION BRASS—TIN PL.
18 2 AX022400 127/800 DIODE IN4007 DIODE
M.LP. 17 1 AH002987 /4" X 7/8" SELLOCK PIN STEEL-ZINC PL.
AR3#6R@ 16 P AHO09277 B/16" X 5/8" X 18 WASHER STEEL-ZINC PL.
300A 15 3 AH115112 M& X 16 SKT HD CAP SCREW STEEL-ZINC PL.
# voLTS 1=1100V 14 1 AHOD9380 3/16" STAR WASHER STEEL-ZINC_PL,
3=3300V 13 1 AHTT7117 M5x10 BUTTON HD CAP SCREW ST. STEEL
@ NOSE CONE S=ST. STEEL 2 1 AX004076 RATING PLATE BRASS
i K 2 AHODY788 No.4 CAUGE X 3/16" U-DRIVE SCREW STEEL_ZINC_PL,
P66 BLANf=BRONEE 10 1 4583 CAP CASTING HIGH TENSILE BRASS — NOTE 6
Mb C86500 TO AS 1565-1996
Ex db | 9 1 4576~ EARTH LEAD 6.0mm’ WITH PILOT DIODE PVC_INSUL. CABLE / IN4007 DIODE
IECEx ExTC 22.0037X 8 1 AI019046 O'RING BS 144 NITRILE
B4 BLUE ANZEx 22.4181 7 3 35891 FILOT THIMBLE (COPPER) C14700 OR C11000 OR C10100
B TYPE A T0 AS/NZS 1567-1997
S.0. Xxx0x—xx 3 3 AHODS834 10-24 UNC X 11/4 SKT HD SCREW ST. STEEL
CONFIGURATION WARNING 5 3 AI019030 O'RING ID 6.07 X SECT 178 NITRILE
DO NOT SEPARATE WHEN ENERGIZED 4 3 3138-2 PILOT SOCKET (COPFER) C14700 OR C11000 OR C10700
T0 AS/NZS 1567-1997 SILVER PL TO AS
NOTES 1856-2004 CuAq 08
— 3 3 AH201405 CONTACT SOCKET SPRING ST STEEL
B 1 3342-555 BODY CASTING ST. STEEL 303 MIN. GRADE
1. MINIMUM WAL THICKNESS 3.0mm UNLESS OTHERWISE SPECIFIED ON THE DRAWING. L - i " CBo500 T0 45 1565-1695
2. IN CASE OF BLIND HOLES FOR SCREWS, THE REMAINING THICKNESS OF MATERIAL ITEM | a1y PART NUMBER DESCRIPTION MATERIAL
UNDER THE HOLE IS A MINIMUM OF ONE-THIRD OF THE SCREW DIAMETER OR 3WM, T
WHICHEVER IS GREATER. = -
3. THE SPECIFICATIONS, DIMENSIONS AND RATINGS COMPLY WITH AS/NZS 1299 < | & H Electrical
ELECTRICAL EQUIPMENT FOR MINES AND QUARRIES. | g l .l
4, SPECIAL FASTENERS COMPLY WITH SO 262 WITH A TOLERANCE FIT 6q/6H AND T A " I ; Products MINTO |NDUSTRIAL PRODUCTS
THIS DRAWING REMAINS THREAD ENGAGEMENT IS 2 THE MAJOR DIAMETER AND THE CLEARANCE HOLE IS 5& S A division of CMI Operations Pty Ltd LI
NOT > H13 (IS0 286-2). 1|1 || |GENERAL TOLERANCE 0.5 | pESCRIPTION Iz2r
THE PROPERTY OF MINTO ;
INDUSTRIAL PRODUCTS AND _6 5. ALL MACHINED FLAMEPATH SURFACES AVERAGE Rs DOES NOT EXCEED 6.3um (IS0468). : UNLESS OTHERWISE SPECIFIED 3OOA 1100/3300\/ 6P
MUST NOT BE LENT OR COPIED. 6. MATERIAL HIGH TENSILE BRASS CB86500 TO AS 1565-1996 WITH A MINIMUM TENSILE = WATER
STRENGTH 450 MPa AND MINIMUM 10% ELONGATION. =M e ae . RESTRAINED DUMMY PLUG
PART No. 7. MINIMUM TORQUE OF 10,0 Nm FOR CAP SCREWS. = SCAE NTS [PATE 99 /11/2027 DRAWING No.
AR316R /AR316RS [0 Nor scaLe orawiG. | 8. MINIMUM PROPERTY CLASS FOR STAINLESS STEEL FASTENERS IS A*~70. £  >[PNST  COLOUR CODING AS PER  |zem e A3 F-931
AR336R / AR336RS |DIMENSIONS IN MILLIMETRES. [ 9. MINIMUM PROPERTY CLASS FOR MILD STEEL FASTENERS IS 4.6. = | ] AS 2700 T EL eeproven /g

1 | 2 3 L/ 4 | 5 [T 6




2 | 3 N 4 | 5 | 6

RATING PLATE FIXING SCREW

DRILL @2.4 WITH MIN 3.0MM

MATERIAL REMAINING UNDER
DRILL POINT

ITEM No, 2 CEMENTED
@@ IN WITH "LOCTITE 587" @
BLUE MAXX
77.5 NOM. (12.5 MIN. 31.5 NOM. (25.0 MIN.
FLAMEPATH LENGTH - = FLAMEPATH LENGTH
WITH A MAX 0.4 GAP) - 945 MIN, —————— 16.0 WITH A MAX 0.5 GAP)
M6 X 1.0 6g/6H
16.0_|.._.. MIN. 11 WALL THICKNESS
___\K% BONDED IN WITH "LOCTITE
, B s 263" THREADLOCKER
.\ = W/ i

% N e .43
‘ ~ K </<<<\/\<\\//\\:{\\\Q‘}Q\“%L

b
LTl

4.5

< 155

i — Rl ——s

%

!
x>
892.0/22.1

23.5 MIN

3 MAIN PIN HOLES
ON 42.0 PCD

i e N R 5 A I~ N i
W / g /X//l \l QA I _
27.0—f=f—= ﬂ

- 60.0 ot = 15.0 MIN.

g ————— H 3D -

@ (9

.~ (110.8/111.0 ——————=

PILOT & AUXILLARY
SOCKETS ON 52,0 PCD

M10 X 1.5 — 6g/6H
CAP CLEARANCE HOLE

@11.0/11.27
SECTION A—A 23] 3 4536 PILOT SOCKET RETAINING RING (OPTIONAL) ERTACETAL C
223 AH207405 CONTACT SOCKET SPRING ST. STEEL
7 | 3 3138-2 PILOT SOCKET (COPPER) C14700 OR C11000 DR C1070D 10
AS/NZS 1567-1997 SILVER FL. TO AS
18562004 Cuhg 08
MARKING DETAILS 20 [ 3 AID19030 O'RING 1D 6.07 X SECT 1.78 NITRILE
9| 3 AHO09834 10-24 UNC X 11/4 SKT HD SCREW ST. STEEL
MiLP 8| 3 35891 PILOT THIMBLE {COPPER) C14700 OR C11000 OR C10100
Aﬁﬁ#ﬁR@ T0_AS/NZS 1567-1997
i AFT13115 M10 X 40 HEX HD SCREW (1S04017) STEEL_ZINC PL,
4237 %] 1 019045 O'RING ID 04.97 X SECT 1.78 NITRILE
# VOLTS 1=1100V 15 1 4576-1 EARTH LEAD 6.0mm” WITH PILOT DIQDE FVC INSUL. CABLE / IN40D7 DIODE
3=3300V 14 1 F-AX00D400 HANDLE NYLON
@ NOSE CONE S=ST. STEEL 3| 1 AHD02987 /4 % 7/8" SELLOCK PIN STEEL-ZING PL.
BLANK=BRONZE 12 | 2 AHOD9277 5/16" X 5/8" ¥ 18 WASHER STEEL-ZINC PL.
P66 | 3 AH115112 M6 X 16 SKT HD CAP SCREW STEEL—ZING PL.
Ex db | Mb il B AHDD9380 3/16" STAR WASHER STEEL—ZINC PL.
[ECEx ExTC 22.0037X 9 | 1 ART17117 W5x10 BUTTON HD CAP SCREW ST, STEEL
1100V 3300V £, LR ' 3 | 2 CH430ET RING TERMINATION BRASS—TIN PL.
B24 BLUE/N24 SILVER R13 RED/N24 SILVER ANZEx 22.4181 i I AXD22400 127/800 DIODE IN4007 DIODE
(N24 SILVER MIN. 25.0mm) (N24 SILVER MIN. 25.0mm) TYPE A i B AX004076 RATING PLATE BRASS
LSQS XXX~ XX 5 | 2 ARODY788 No.4 CAUGE X 3/16" U-DRIVE SCREW STEEL-ZINC PL.
RNING P 1583 CAP CASTING HIGH TENSILE BRASS — NOTE 6
C ON F|GU R A—HON DO NOT SEPARATE WHEN ENERGIZED C86500 TO AS 1565-1996
o 4034 INTERIOR MOULDING SUPEROHM
N_(LT_E_S 7 | 3 4620 BUNG ERTACETAL C
B | 1 3342-55S BODY CASTING ST, STEEL 303 MIN. GRADE
1. MINIMUM WALL THICKNESS 3.0mm UNLESS OTHERWISE SPECIFIED ON THE DRAWING. ol M i BT Oasihe MR
2. IN CASE OF ELIND HOLES FOR SCREWS, THE REMAINING THICKNESS OF MATERIAL TEM| QTY PART NUMBER DESCRIPTION MATERIAL
UNDER THE HOLE IS A MINIMUM OF ONE THIRD OF THE DIAMETER OR 3MM G
WHICHEVER IS GREATER. . =
3. THE SPECIFICATIONS, DIMENSIONS AND RATINGS COMPLY WITH AS/NZS 1299 | J } < | & m Electrical
ELECTRICAL EQUIPMENT FOR MINES AND QUARRIES. 1
4. SPECIAL FASTENERS COMPLY WITH IS0 262 WITH A TOLERANCE FIT 6g/6H AND | = E | Products MINTO INDUSTRIAL PRODUCTS
s | 3] A division of CMI Operations Pty Ltd

THIS DRAWING REMAINS

THREAD ENGAGEMENT IS2THE MAJOR DIAMETER AND THE CLEARANCE HOLE IS | |

THE PROPERTY OF MINTO NOT > H13 (ISO 286-2). | GENERAL TOLERANCE +0.5 DESCRIPTION - Fry i .
INDUSTRIAL PRODUCTS AND _g, 5. ALL MACHINED FLAMEPATH SURFACES AVERAGE Ro DOES NOT EXCEED 6.3um (ISO468). | UNLESS OTHERWISE SPECIFIED 425A ”00/3300\/ 6P
MUST NOT BE LENT OR COPIED. 6. MATERIAL HIGH TENSILE BRASS C86500 TO AS 1565-1996 WITH A MINIMUM TENSILE e -

STRENGTH 450 MPa AND MINIMUM 10% ELONGATION. SEE TABLE RESTRAINED DUMMY PI—UG_
PART No. . MINIMUM TORQUE OF 10.0 Nm FOR CAP SCREWS.

SCHE NS [DRTE 9D /11/2022] ) — | DRAWNG No.
ARL16R / ARL16RS [ng noT SCALE RAWING, | B. MINIMUM PROPERTY CLASS FOR STAINLESS STEEL FASTENERS IS A*-70 FINSH  COLOUR CODED AS PER  gmawm T Ll ] F-043
ARL36R / ARL36RS |DIMENSIONS IN MILLIMETRES.| 9. MINIMUM PROPERTY CLASS FOR MILD STEEL FASTENERS IS 4.6 AS 2700 AB B a== | -

w00~
DRAWING CREATED
REVISION

1 | 2 3 L/ 4 I B l 6




N

el

56.0/58.0

1AL1B

77,5 NOM. (12.5 MIN.
FLAMEPATH LENGTH
WITH A MAX 0.4 GAP)

16.0

A‘ngl_

[TEM No. 2 CEMENTED

IN WITH "LOCTITE 587"

BLUE MAXX
16.0

Y

31.5 NOM. (25.0 MIN.
FLAMEPATH LENGTH
WTH A MAX 0.5 GAP)

M6
MIN

/

A AT A
’”‘*< IV IL bz

Fa

@110.8/111.0

@23.5 MIN.

Pl P i 7l et
SRR RTINS

-~ (92.0/82.1 ————=

. 11 WALL THICKNESS
BONDED IN WITH "LOCTITE
263" THREADLOCKER

X 1.0 Bg/6H

RATING PLATE FIXING SCREW
DRILL @2.4 WITH MIN 3.0MM
MATERIAL REMAINING UNDER

DRILL POINT

y ey
FILOT SOCKET
ON 444 PCD AN i
C_F G i )ﬂ\ i
/' / | AT AT
3 MAIN PIN HOLES ) 27.0 —t= i
ON 44.4 PCD i : /
o 60.0 ——sa— 120 1o :
9.4/9.6 - 87.0 @
M10 X 1.5 — 6g/6H
@@ @ @@ @@ CAP CLEARANCE HOLE
©11.0/11.27
SEC TION A—A 71 i AI019023 ORING ID 82.22 X SECT 2.62 NITRILE
MARKING DETAILS 20 1 AHZ01405 CONTAC T SOCKET SPRING ST. STEEL
- 19 1 3138-2 PILOT SOCKET (COPPER) C14700 OR C11000 OR C10100
J.P. T0 AS/NZS 1567-1997
AR4315@ 18 1 AI019030 O'RING ID 6.07 X SECT 1.78 NITRILE
47254 17 i AHOD9B34 10-24 UNC % 11/4" SKT HD SCREW ST. STEEL
3300V 16 7 AHODZ987 1/4" X 7/8" SELLOCK PIN STEEL-ZINC FL.
@ NOSE CONE S=ST. STEEL 16 1 3984 PILOT THIMBLE [cDPPER)TS1:;32205121;:;;0239? 10100
P66 BLANK=ERONZE 14 3 AHT13115 M10_X 40 HEX _HD SCREW (IS04017) STEEL=ZINC_PL
Ex db | Mb 13 i AI019046 O'RING BS 144 NITRILE
X 12 i 45761 EARTH LEAD 6mm’ WITH PILOT DIODE PVC_INSUL. CABLE / IN4DO7DIODE
IECEx ExTC 22.0037X 7 1 F— AXD00400 HANDLE NYLON
ANZEx 22,4181 0 2 AHOD9277 5/16" X 5/8° X 18_WASHER STEEL—ZINC_PL
TYPE A 9 3 AH115112 M6 X 16 SKT HD CAP SCREW STEEL=ZINC_PL.
S0 KXXXX—XX 8 i AHOD93B0 3/16"_STAR WASHER STEEL—ZINC_PL.
WARNING ¥ 1 AH117117 M5x10 BUTTON HD CAP SCREW ST, STEEL
DO NOT SEPARATE WHEN ENERGIZED B i AX004076 RATING PLATE BRASS
5 2 AHOD9788 No.4 GAUGE X 3/16° U-DRIVE SCREW STEEL-ZINC_PL,
4 1 4583 CAP CASTING HIGH TENSILE BRASS — NOTE 6
086500 TO AS 1565-1996
3 1 3960 INTERIOR MOULDING CMCEBB04G/E
NOTES 2 3 4620 300A_3.3KV DUMMY PLUG BUNG ERTACETAL C
B 1 3342-155 BODY CASTING ST. SIEEL 303 WIN. GRADE
1. MINIMUM WALL THICKNESS 3.0mm UNLESS OTHERWISE SPECIFIED ON THE DRAWING. 1A 1 3542-18 BODY CASTING H[GCHH(;FLSES[?ELTE}BARSA??& ?SSTGE 6
2. IN CASE OF BLIND HOLES FOR SCREWS, THE REMAINING THICKNESS OF MATERIAL — =
UNDER THE HOLE IS A MINIMUM OF ONE~THIRD OF THE SCREW DIAMETER OR 3MM, L Ll MATERIL
WHICHEVER IS GREATER, s Parts List
3. THE SPECIFICATIONS, DIMENSIONS AND RATINGS COMPLY WITH AS/NZS 1299 < | & E'ectrical
ELECTRICAL EQUIPMENT FOR MINES AND QUARRIES, | e
4. SPECIAL FASTENERS COMPLY WITH ISO 262 WITH A TOLERANCE FIT 6g/6H AND LA - Products | MINTO INDUSTRIAL PRODUCTS
LBF;E:DH%QG(TSGSMQE;BT |25J2 THE MAJOR DIAMETER AND THE CLEARANCE HOLE IS = E; A division of CMI Operations Pty [td | o]
THIS DRAWING REMAINS 5. ALL MACHINED FLAMEPATH SURFACES AVERAGE Rs DOES NOT EXCEED 6.3um (IS0468). e SR L ‘DESCR'PT'O” 425A 3300V
ThHE PREEERTY Ok TAINTH Y 6. MATERIAL HIGH TENSILE BRASS C86500 TO AS 1565-1996 WITH A MINMUM TENSILE | — RESTRAINED DUMMY PLUG
N e STRENGTH 450 MPa AND MINIMUM 10% ELONGATION. B| =" o aaiE | ow . BE 17 FLUG |
: 7. MINIMUM TORQUE OF 10.0 Nm FOR CAP SCREWS. & LQF) [SCALE NTS DATE2_2/‘|‘|/2D22 DRAWING No.
ARL31S 00 NOT SCALE ORAWING. | 8 MINIMUM PROPERTY CLASS FOR STAINLESS STEEL FASTENERS IS A*~70 g | & e R13 RED/NZ4 SLVER | L Lo AT 949
1 ! 2 3 J 4 5 6




TECHNICAL DOCUMENTATION

A division of CMI Operations Pty Ltd
ABN 87 088 279 270
www.cmielectrical.com.au

Instructions for 300/425 AMP 660/1100/3300 VOLT Restrained Range

TRP2
Catalogue Number Description
AF3#4&@* 300A 660/1100V Restrained Plug
AF3#6&@" 300A 1100/3300V 6P Restrained Plug
AF334%@* 300A 3300V Restrained Plug
AF4#4&@" 425A 660/1100V Restrained Plug
AF4#6%@* 425A 1100/3300V 6P Restrained Plug
AF434%@* 425A 3300V Restrained Plug.
AG3#4B 300A 660/1100/3300V Restrained Receptacle
AG3#4BQR 300A 660/1100/3300V Q/R Restrained Receptacle
AG3#6B 300A 1100/3300V 6P Restrained Receptacle
AG3#6BQR 300A 1100/3300V Q/R 6P Restrained Receptacle
AG334B 300A 3300V Restrained Receptacle
AG334BQR 300A 3300V Q/R Restrained Receptacle
AG4#4B 425A 660/1100V Restrained Receptacle
AG4#4BQR 425A 660/1100V Q/R Restrained Receptacle
AG4#6BQR 425A 1100/3300V Q/R 6P Restrained Receptacle
AG434BQR 425A 3300V Q/R Restrained Receptacle
AH3#4B 300A 660/1100V Restrained Back to Back Receptacle
AH3#4BQR 300A 660/1100V Q/R Restrained Back to Back Receptacle
AH3#6B 300A 1100/3300V 6P Restrained Back to Back Receptacle
AH3#6BQR 300A 1100/3300V Q/R 6P Restrained Back to Back Receptacle
AH334B 300A 3300V Restrained Back to Back Receptacle
AH334BQR 300A 3300V Q/R Restrained Back to Back Receptacle
AH4#4B 425A 660/1100V Restrained Back to Back Receptacle
AH4#4BQR 425A 660/1100V Q/R Restrained Back to Back Receptacle
AH4#6BQR 425A 1100/3300V Q/R 6P Restrained Back to Back Receptacle
AH434BQR 425A 3300V Q/R Restrained Back to Back Receptacle
AR3#1R@ 300A 660/1100V Restrained Dummy Plug
AR3#6R@ 300A 1100V/3300 6P Restrained Dummy Plug
AR331S@ 300A 3300V Restrained Dummy Plug
AR4A#1R@ 425A 660/1100V Restrained Dummy Plug
AR4#6R@ 425A 1100V/3300 6P Restrained Dummy Plug
AR431S@ 425A 3300V Restrained Dummy Plug
Note:
Marking:

1. # Volts: 6=660V, 1=1100V, 3=3300V

2. % Interior: S = Solid DMC, T = Teflon/Stainless

3. & Interior R = Rubber, T = Teflon/Stainless

4. @ Nose Cone: S=ST. Steel, Blank=Bronze.

5. * Gland: 3=Small, 4=large.

This brochure is distributed with the understanding that the authors and editors are not responsible for the results of any actions taken on the basis of the information in this work, or any errors or
omission. Further, Minto Industrial Products is not engaged in rendering professional services. Minto Industrial Products expressly disclaims all and any liability to any person in respect of anything
and of the consequences of anything done or omitted to be done by any such person in reliance whether whole or partial of the whole or any part of the contents of this publication. All rights reserved.
No part of this work covered by copyright may be reproduced or copied in any form or by any means without the written permission of Minto Industrial Products.

TRP-2 300/425A Restrained Termination & Maintenance Instruction Page 1 of 4

RevJ 20230331



TECHNICAL DOCUMENTATION

A division of CMI Operations Pty Ltd
ABN 87 088 279 270
www.cmielectrical.com.au

Installation

e  Confirm components suitable for application e.g. thimbles and grommets suitable for the
conductors and cable.
o  Plug fitting cable preparation.
1. Slide the gland cap, grommet and plug body along the cable.
2. Prepare the cable to the dimensions given in the strip back table.
3. Crimp or solder the thimbles to the phase, pilot and earth cores.

e  Plug fitting

4. Fit the conductors to the appropriate location securing in place with screw through socket
where appropriate.
Assemble the plug, ensuring the interior rotation conforms to AS/NZS1299.
Then fit dust cap (F-264L). Care should be taken not to damage the earth sleeve flamepath.
Slide the grommet into position and bolt the gland cap firmly to the body.
Note: The certified drawings form a part of the user instructions. Refer to them for further
details.

©®NoO»

e Receptacle fitting
9. For Receptacle mounting dimensions refer to AS/NZS1299. The flange flamepath used to
assemble the receptacle and Exd enclosure with minimum width 12.5mm and maximum gap
0.4mm.
10. Attach to enclosure via special fasteners.
11. The special fasteners and/or nuts shall be minimum grade 4.6 (yield stress 240MPa) or for
stainless steel minimum grade A*-70 (Yield stress 450MPa)

e Connection of Protective Earthing Conductors

This range of plugs and receptacles has facility for earthing conductors up to 95 mm?2
It is the responsibility of the installer to determine and fit the correct sized earth conductors

C
n
@

Isolate power before connecting or disconnecting.

Assembly

Ensure sockets are clean and serviceable.

Correct pin alignment.

Insert plug using receptacle operating mechanism.

NB. For quick release mechanism, ensure the locking button is fully home.

Disassembly

e To remove plug from receptacle, utilise the operating mechanism.
e NB. For quick release, lift the locking button first.
o Fit dust cover to plug and receptacle.

Conditions of Use

e Some flameproof joints (flamepath) have dimensions that are different than the values given
in table1 of IEC60079.1. Refer to the manufacture’s drawings for details.

e The special fasteners used to assemble the plug and gland shall be minimum grade 4.6 (yield
stress 240MPa) or for stainless steel minimum grade A*-70 (Yield stress 450MPa).

This brochure is distributed with the understanding that the authors and editors are not responsible for the results of any actions taken on the basis of the information in this work, or any errors or
omission. Further, Minto Industrial Products is not engaged in rendering professional services. Minto Industrial Products expressly disclaims all and any liability to any person in respect of anything
and of the consequences of anything done or omitted to be done by any such person in reliance whether whole or partial of the whole or any part of the contents of this publication. All rights reserved.
No part of this work covered by copyright may be reproduced or copied in any form or by any means without the written permission of Minto Industrial Products.

TRP-2 300/425A Restrained Termination & Maintenance Instruction Page 2 of 4

RevJ 20230331



TECHNICAL DOCUMENTATION

A division of CMI Operations Pty Ltd

ABN 87 088 279 270
www.cmielectrical.com.au

Maintenance

e Inspection shall include cleanliness and compliance with certification documentation.
e Check as per AS/NZS 2290.1

Overhaul and Repair

e To be carried out by suitable workshop.
e |tis recommended that the equipment is overhauled at intervals that do not exceed the
requirements of AS/NZS2290.1.

Certification Details:

Certified to:

Certificate of Conformity:
Type of Protection:
Type:

Ingress Protection:

IEC 60079-0:2017: IEC 60079-1:2015;
AS/NZS 1299:2009 (incorporating amendment No.1)
IECEx EXTC 22.0037X and ANZEx 22.4181

Ex db | Mb
(AS/NZS 1299) Type A

IP66/68 (2 metres for 30 minutes) for Restrained Plug, Restrained
Back to Back Receptacle, Restrained Receptacle, Gland Adapter.

IP66 only for Dummy Plug

Certification Nameplate Details:

TYPICAL 300/425A MOUNTING TYPICAL 300/425A RESTRAINED PLUG TYPICAL 300/425A 6 PIN RESTRAINED
BRACKET RATING PLATE DETAILS | RATING PLATE DETAILS PLUG RATING PLATE DETAILS
CMI M.I.P. M.L.P.
AV3 AF&#A%@* AF&#6%@*
300/425A & AMPS 3 =300A & AMPS 3 =300A
Ex db | Mb 4 = 425A 4 = 425A
IECEx ExTC 22.0037X #VOLTS 6 = 660V #VOLTS 1=1100V
ANZEx 22.4181 1=1100V 3 = 3300V
TYPE A 3 =3300V % INTERIOR R = RUBBER
BATCH. xxxxx % INTERIOR R = RUBBER T=
S =SOLID bMC TEFLON/STAINLESS
T= @ NOSE CONE S = St, Steel
TEFLON/STAINLESS BLANK = BRONZE
@ NOSE CONE S = St, Steel * GLAND 3 =SMALL
BLANK = BRONZE 4 = LARGE
* GLAND 3 =SMALL IP66/68
4 = LARGE Ex db | Mb
IP66/68 IECEx ExTC 22.0037X
Ex db | Mb ANZEx 22.4181
IECEx ExTC 22.0037X TYPE A
ANZEx 22.4181 S.0. XXXXX-XX
TYPE A WARNING
S.0. XXXXX-XX DO NOT SEPARATE WHEN ENERGIZED
WARNING
DO NOT SEPARATE WHEN ENERGIZED

This brochure is distributed with the understanding that the authors and editors are not responsible for the results of any actions taken on the basis of the information in this work, or any errors or
omission. Further, Minto Industrial Products is not engaged in rendering professional services. Minto Industrial Products expressly disclaims all and any liability to any person in respect of anything
and of the consequences of anything done or omitted to be done by any such person in reliance whether whole or partial of the whole or any part of the contents of this publication. All rights reserved.
No part of this work covered by copyright may be reproduced or copied in any form or by any means without the written permission of Minto Industrial Products.

TRP-2 300/425A Restrained Termination & Maintenance Instruction Page 3 of 4

RevJ 20230331



A division of CMI Operations Pty Ltd

ABN 87 088 279 270
www.cmielectrical.com.au

TECHNICAL DOCUMENTATION

TYPICAL 300/425A RESTRAINED PLUG
(INT GLAND) RATING PLATE DETAILS

TYPICAL 300/425A RESTRAINED
RECEPTACLE RATING PLATE DETAILS

TYPICAL 300/425A 6 PIN RESTRAINED
RECEPTACLE RATING PLATE DETAILS

M.L.P.

AF&#4S

& AMPS 3 =300A
4 = 425A

#VOLTS 6 = 660V
1=1100V

IP66/68

Ex db | Mb

IECEx ExTC 22.0037X

ANZEx 22.4181

TYPE A

S.0. XXXXX-XX

WARNING

DO NOT SEPARATE WHEN ENERGIZED

M.L.P.

AG&#4B

& AMPS 3 =300A
4 = 425A

#VOLTS 6 = 660V
1=1100V
3 =3300V

IP66/68

Ex db | Mb

IECEx ExTC 22.0037X

ANZEx 22.4181

TYPE A

S.0. XXXXX-XX

WARNING

DO NOT SEPARATE WHEN ENERGIZED

M.L.P.

AG&#6B

& AMPS 3 =300A
4 = 425A

#VOLTS 1=1100V
3 = 3300V

IP66/68

Ex db | Mb

IECEx ExTC 22.0037X

ANZEx 22.4181

TYPE A

S.0. XXXXX-XX

WARNING

DO NOT SEPARATE WHEN ENERGIZED

TYPICAL 300/425A RESTRAINED BACK
TO BACK RECEPTACLE RATING
PLATE DETAILS

TYPICAL 300/425A 6 PIN RESTRAINED
BACK TO BACK RECEPTACLE RATING
PLATE DETAILS

TYPICAL 300/425A RESTRAINED
DUMMY PLUG RATING PLATE
DETAILS

M.L.P.

AH&#4B

& AMPS 3 =300A
4 = 425A

#VOLTS 6 = 660V
1=1100V
3 =3300V

IP66/68

Ex db | Mb

IECEx ExTC 22.0037X

ANZEx 22.4181

TYPE A

S.0. XXXXX-XX

WARNING

DO NOT SEPARATE WHEN ENERGIZED

M.L.P.

AH&#6B

& AMPS 3 =300A
4 = 425A

#VOLTS 1=1100V
3 =3300V

IP66/68

Ex db | Mb

IECEx ExTC 22.0037X

ANZEx 22.4181

TYPE A

S.0. XXXXX-XX

WARNING

DO NOT SEPARATE WHEN ENERGIZED

M.L.P.
AR&#1%@
& AMPS 3 =300A
4 = 425A
# VOLTS 6 = 660v
1=1100V
3 = 3300V
% INTERIOR R = RUBBER
S =SOLID DMC
@ NOSE CONE S = St, Steel
BLANK = BRONZE
P66
Ex db | Mb
IECEx ExTC 22.0037X
ANZEx 22.4181
TYPE A
S.0. XXXXX-XX
WARNING

DO NOT SEPARATE WHEN ENERGIZED

TYPICAL 300/425A 6 PIN RESTRAINED
DUMMY PLUG RATING PLATE
DETAILS

M.L.P.
AR&H#O6R@
& AMPS 3 =300A
4 = 425A
#VOLTS 1=1100V
3 = 3300V
@ NOSE CONE S = St, Steel
BLANK = BRONZE
IP66
Ex db | Mb
IECEx ExXTC 22.0037X
ANZEx 22.4181
TYPE A
S.0. XXXXX-XX
WARNING

DO NOT SEPARATE WHEN ENERGIZED

Refer to Instruction TRP-2-2 for additional detailed instructions

This brochure is distributed with the understanding that the authors and editors are not responsible for the results of any actions taken on the basis of the information in this work, or any errors or
omission. Further, Minto Industrial Products is not engaged in rendering professional services. Minto Industrial Products expressly disclaims all and any liability to any person in respect of anything
and of the consequences of anything done or omitted to be done by any such person in reliance whether whole or partial of the whole or any part of the contents of this publication. All rights reserved.
No part of this work covered by copyright may be reproduced or copied in any form or by any means without the written permission of Minto Industrial Products.

TRP-2 300/425A Restrained Termination & Maintenance Instruction

RevJ 20230331

Page 4 of 4




Cmi TECHNICAL DOCUMENTATION

Electrical

A division of CMI Operations Pty Ltd
ABN 87 088 279 270
www.cmielectrical.com.au

Additional Instructions for 300/425 AMP 660/1100/3300 VOLT
Restrained Range

TRP-2-2
Cable Strip Back Dimensions
Strip Back Dimensions (mm)
A (Phase) B (Earth) C (Pilot)
AF314R3 /AF364R3 / AF414R3 / AF464R3 | 110 155 155
AF314R4 /AF364R4 | AF414R4 | AF464R4 130 180 120
AF334S3 / AF434S3 / AF316R3 / AF336R3
AF416R3 / AF436R3 128 120 130
AF334S4 | AF434S4 | AF316R4 / AF336R4
AF416R4 | AF436R4 158 150 100
AF314S /| AF364S 145 165 120

Note- Cables with semi conductive phase screening shall have the semi conductive screen removed back to the outer sheath.

Fitting of Cables

Note: The torque specified in the certification drawings is for the sealing test where the gland is tightened onto a
steel mandrel.
o Cable fitting and testing shall be in compliance with AS/NZS 1747
o AS/NZS 1747:2022 sets out the method of cable installation and subsequent testing.
Selection of thimbles
a. Thimbles shall be sized so that the internal diameter of the thimble is within Imm of the stripped
conductor diameter.

. Grommet sizing

a. Grommets shall be sized to the cable being used

b. The grommet shall preferably be a conformal fit that fits tightly onto the cable.

c. Grommets that fit loosely, will prevent the cable been effectively sealed in the gland.
. For guidance only, CMI recommend minimum torque settings for fitting cables to the range of 300/425A

Restrained Plugs and Receptacle, Gland & Bracket
a. This recommended minimum torque for the gland bolt / screw is: 18NM

Note:
e A suitable calibrated Torque Wrench shall be used for this process

. Initial testing of cable installation to gland:
a. Undertake a “Twist Test” as outlined in AS/NZS 1747:2022.
b. Undertake other tests as outlined in AS/NZS 1747:2022.

. Testing of plug / cable complete.

. Undertake the required tests as outlined in AS/NZS 1747:2022.

Fitting of Sockets to Cable Thimbles

. The following maximum torques shall be applied when screwing the sockets to the cable thimbles

e Main (Phase) Sockets
o 6.5~8Nm torque
e  Pilot Socket
o 2.5~3Nmtorque
Note:
e A suitable calibrated Torque Wrench (recommended ¥ inch size) shall be used for this process

This brochure is distributed with the understanding that the authors and editors are not responsible for the results of any actions taken on the basis of the information in this work, or any errors or
omission. Further, Minto Industrial Products is not engaged in rendering professional services. Minto Industrial Products expressly disclaims all and any liability to any person in respect of anything
and of the consequences of anything done or omitted to be done by any such person in reliance whether whole or partial of the whole or any part of the contents of this publication. All rights reserved.
No part of this work covered by copyright may be reproduced or copied in any form or by any means without the written permission of Minto Industrial Products.

TRP-2-2 300/425A Restrained Termination & Maintenance Instruction Additional Instructions Page 1 of 2

Rev B 20230331

®
minto industrial products Q Aflex Cables XLPE cables @ HARTLAND CABLES

agemey,
A0 r_,&

@O
2
-}
2

Global-Mark.com.au®

Quagy,



3

Cmi TECHNICAL DOCUMENTATION

Electrical

A division of CMI Operations Pty Ltd
ABN 87 088 279 270
www.cmielectrical.com.au

00/425A Receptacle Mounting Details

- 2150 *
165.0
i
—— D <
| osso
1 -
=
s 3
€ =
0
O O
1

* Dimensions shown is the Enclosure Mochining Arec.
Untolercnced cimensions +0.25

This brochure is distributed with the understanding that the authors and editors are not responsible for the results of any actions taken on the basis of the information in this work, or any errors or
omission. Further, Minto Industrial Products is not engaged in rendering professional services. Minto Industrial Products expressly disclaims all and any liability to any person in respect of anything
and of the consequences of anything done or omitted to be done by any such person in reliance whether whole or partial of the whole or any part of the contents of this publication. All rights reserved.
No part of this work covered by copyright may be reproduced or copied in any form or by any means without the written permission of Minto Industrial Products.

TRP-2-2 300/425A Restrained Termination & Maintenance Instruction Additional Instructions Page 2 of 2

Rev B 20230331
‘po“‘"'"ﬁl y

® §
@ minto industral products a Aflex Cables @ XLPE cables @HARTLAND CABLES &

Global-Mark.com.au®

N
o?

1008



	F-913 rev A (300A 660-1100V REST DUMMY PLUG) 20230207 - Signed
	F-919 rev A (300A 3300V REST DUMMY PLUG) 20230207 - Signed
	F-922 rev A (425A 660-1100V REST DUMMY PLUG) 20230207 - Signed
	F-931 rev A (300A 1100-3300V 6P REST DUMMY PLUG) 20230207 - Signed
	F-943 rev A (425A 1100-3300V REST DUMMY PLUG) 20230207 - Signed
	F-949 rev A (425A 3300V REST DUMMY PLUG) 20230207 - Signed
	TRP-2 rev J - 300-425A Restrained Instruction 20230331 - Signed

